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And the rider should also acquire the reins

OVERVIEW

The X713 cites a Xn™12 which states that if one person is 2137 and the other is
77°0m2 08N, the rule is that the 2127 acquires the donkey and the ©°5n
acquires the 77°01 [proving that 2127 is 712]. The X713 refutes this saying
that 2107 here means 1°2312 3711 (so he is 7P through 72°wn). The X3 asks
why is the 2127 not 711p the 77°0m as well. In some texts this question is
prefaced by the words 27 °X'; indicating that this question (that the 2127
should acquire the 77°01) is only if we assume that the 2107 is a 12372 »nn.
Our nvo1n explains the connection between the two.

— Y1939 591 1991 AN 139093 ON
If the text reads 's277 5R' (“if this is s0’), this is the explanation of the > X -
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The &n»11 is properly understood if we assume that the 2127 is not x>
373, in which case the 2127 acquires the animal, (only) since he is
holding it and therefore -
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It is properly understood why the 2127 does not acquire the 57950 -
—*n9PUn IN NN2INA NIN NP0 HY 137 7Y XY *PpYvbonat
for by >ubun the 117 of 001 is not applicable for the 77°e; only the
o°1°1p of lifting and pulling.
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However, if we are discussing a case where the 2137 is 1392 373%, which
1s the equivalent of 72°wn, the question then arises that the 2127 should also
acquire the ;779°0, by pulling the animal; this is contingent -

" Our n1m3 read 577 °X'. The term *37 °X denotes that according to your statement (or answer) there arises a
new difficulty. Seemingly here the difficulty of 77°0%2 2137 "n1 *1p1 is independent of whether the 2137 is
1°2372 2°73n or not. Why are we "7 °R" 07?

2 Previously mvo1n (on 77y 2137 7"7 2,7) taught that 772 9°5n means that he is holding the 77°01 (not ©°5n
19372 or 7°HY 2wr), and here (seemingly) the 2137 is not 77°01M2 050 (the other party is). See n"n1 who
explains that 77°0122 050 is RP17 X?; he can be 001 the mnn2 (its hair, etc.) with his hands.

3 phuoun here means utensils as opposed to animals. We can conceive that animals can be acquired by
holding the reins; however other 17051 cannot be acquired by merely holding them.

* The 2121 did not lift or pull the 7770 (he merely held it [see previous footnote # 2]) therefore he is not
anp the 77°0m. See ‘Thinking it over’.

> The translation here is based on the M n»ar and others.
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If we assume that if someone said. ‘Pull this animal and acquire the
utensils that are on it’ he acquires the utensils -
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For later we have a query in the case of "21 7n72 TWw» whether he

acquires the 0°22 or not, so since we say here that even if he is a 12312 271

he doe not acquire the 77°01, we can resolve that query from the ruling

here by 717°0; that saying 7°%yw 0°95 °1p is ineffective, for he is not 711p, as we
see by n7°0m that the 2137 even though he effects a n>wn (for he is 12a72 »mmn),
nevertheless he does not acquire the 77°01 (which is the equivalent of %yw 0°%3).

SUMMARY

One cannot be P2v%un P by merely holding them; a 72°wn or 77237 is
required. If one is 17372 731 he should be 1P the 770w if we assume that
by %yw 0°%3 °1321 11 N2 Twn he acquires the °%3.

THINKING IT OVER

moon explains that if 2197 is not 7372 »mn (but merely ©°0n), it is
understood why he is not 7P the 770, since 1°%v%Yn cannot be acquired
through o°5n.” However, moon previously taught® that (even) by 2191 (who
is not a 19372 »nIn) it is necessary to assume that it is 7o namA LA KR, Since
it is moving °nnnn it should be considered a 72°wn (just as 17372 ) and
he should be 711p the 71°07 (just as by 2312 »mn)?°

8 qwn a"1na w0,
7 See footnote # 4.
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? See 701 (307) MK "2
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